
Crochet Poppy Pattern #2 
 

 

 
You can use any hook and any wool.....get creative! 

 

 

UK crochet terms. 

ch = Chain,  dc = double crochet (US = single crochet), tr = treble crochet (US = double 

crochet) 

You will need a small amount of black and red wool .  This pattern is great for using up all 

those spare bits of wool.  

 

Round 1 

In Black wool: 

Chain 6 and join to first chain with a slip stitch to form a loop. 

Chain 2 (counts as your first double crochet dc),  Work 11 dc into the centre loop. Makes 

12 stitches in total.   

For a larger black centre you can work treble crochet instead of double 

crochet 

 

Round 2 

 

1. Into any stitch work ch2 (counts as first double crochet).  Work 1 dc into same 

stitch. 

2. Into next stitch work 2 dc  and repeat this, working 2dc into every stitch = 24 

stitches. 

3. Join with a slip stitch into the second chain stitch you did at the beginning of the 

round. 

 

Round 3 

Petals  

You are going to repeat this 4 times to make 4 petals in total. 

1. Ch 2 (counts as a dc), into next stitch work 2 tr, 

2. Work 2 tr into next stitch  

3. 2 tr into next stitch 

4. 2 tr into next stitch = 8 tr crochet stitches 

5. 1 dc into next stitch = 10 stitches = 1 petal 



6. 1 dc into next stitch is the start of your next petal - repeat steps 1 - 5 three more 

times 

Complete your 4th petal with a slip stitch into the the first ch 2 you did for the first petal 

but do not cast off. 

 

Round 4 

The final round (round 4) is an optional extra which I like to add because it adds a layer of 

beauty to our poppy giving it slightly fuller petals. 

1. Into each tr stitch from previous round work 2 dc = 16 dc 

2. Work a slip stitch in between the two dc from previous round. This gives the 'dip' 

between the two petals clear definition. 

 

Repeat for each petal working all the way round your poppy 

Join with a slip stitch and cast off. Leave a long tail to help with joining onto the 

bigger project 

 

 

Same pattern different hook size! 

The Pattern 

Black Yarn: 

Ch6 and join with a ss into first ch to make a loop. 

 

Round 1: 

ch2 (counts as first dc) work 11dc into loop = 12 stitches  

*remember if you want a larger black centre then work treble crochet instead of double 

crochet into the central loop. 

Cast off and change to Red Yarn. 

 

Round 2: 

Into any stitch cast on red and ch2 (counts as 1st dc) into same stitch work 1dc.  *Work 2 

dc into next stitch. *Repeat to end working 2 dc into every stitch= 24 stitches. 

Join with a ss into 2nd ch you initially started with. 

 

Round 3: 

1st Petal.  ch2 (counts as 1st dc), 2tr into next stitch, 2 tr into next stitch, 2 tr into next 

stitch, 2 tr into next stitch, 1dc into next st. 

2nd Petal. 1 dc into next stitch, 2 tr into next stitch, 2 tr into next stitch, 2 tr into next 

stitch, 2 tr into next stitch, 1dc into next st. 

Repeat two more times = 4 petals = 40 stitches 

 

Round 4: 

Into each tr stitch from previous round work 2 dc followed by a ss in between the two dc 

from previous round. 

Cast off  


